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3/18/2021
A carrier signal C(t)=25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 x 10%t) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?
Options :
86435112421, 20 MHz

86435112422, 8 GHz

86435112423, 201 GHz

86435112424, 1987.5 MHz

Question Number : 1 Question Id : 8643514141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,00 Hodked A m(t)=5sin(1.57 x10°%) W&, TN ANe* C(t)=25 sin(2.512 x 10')
SR0ON TE SRS TRAT PP, SoUITT DR TXTR TRETINT.  SREST
BRBRNDB ANC'E TE SnoTw, ?

Options :

86435112421, 20 MHz

86435112422, 8 GHz

86435112423, 201 GHz

86435112424, 1987.5 MHz

Question Number : 2 Question Id : 8643514142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3/18/2021
Two cells of emf 2E and E with internal resistance r, and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
[\ ||
A !
e
R
Options :
"
86435112425. -~
|
T | FE
86435112426. ~
T
86435112427.
r,+1,
86435112428.

Question Number : 2 Question Id : 8643514142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2E 393 E o593 wodeodnt Bm@meh r) &) 1, $0308 SRepnvdedneod @
3Re3nY, X, Seel RErohA A0Hod BredAd (B3 drel). ST 33T DONYYT
AEATADIoT: 1o &qa&mnaﬁmdﬁ, R ::.Sat;q :

2E E
[\ |
II

Options :
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86435112425.

86435112426.

86435112427.

86435112428.

Question Number : 3 Question Id : 8643514143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms ~! along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

86435112429 Y(x, t)=0.03 [ sin 5.1x— (0.2 x 10%)t ]

Y(x, ) =0.03 [ sin 5.1x — (1.5 10)t ]
86435112430,

, 1)=0.06 [ si - 3
86435112431, YO =006 [ sin 5.1x~ (1.5 x10°)t ]

NS :
86435112432, Y& =006 | sin 0.5z (0.5x10%t ]

Question Number : 3 Question Id : 8643514143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

358 245 Hz 300@ womh ), ITorisy) 300 ms ! Sendeodn g3 X-930 UTI B, WORET.
STOND TS WOy LoT W WROTS 2t 6 Fo.Lne. TRUTWON BIATT = BIAM3TH
ggong, neddees O ?

Options :

Y(x, ) =0.03 [ sin 5.1x— (0.2 x 103)t ]
86435112429

4/91



3/18/2021
Y(x, )=0.03 [ sin 5.1x— (1.5 x 10¥)t ]
86435112430.

B e 1 e .
86435112431, Y §=0.06 [ sin 5.1x— (1.5 x10°)t ]

, 1)=0.06 [ si : 3
86435112432, Y& 1) =0.06 [ sin 0.8x— (0.5 x10%t ]

Question Number : 4 Question Id : 8643514144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘I at a height of 11R above
the surface of ‘P, R being the radius of ‘P’. The time period of another satellite in hours at a
height of 2R from the surface of ‘I is . ‘P’ has the time period of 24 hours.
Options :
86435112433, °

86435112434, V2

86435112435,

6
86435112436. V2

Question Number : 4 Question Id : 8643514144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2.0 PRJT WINTH P wow NEmw, ©ug Hed Lok 11IR2ITTY BHHTH, R 2020w
@3 8. Prod Hed Q08 2R 2ITTINT D3RO LWINTT S[IF FOF) NownvY
(PR ==3Fmo 24 notdnsd)
Options :
86435112433, °

86435112434, V2

86435112435. 3
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6
86435112436. V2

Question Number : 5 Question Id : 8643514145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of

mass m moving with a speed v along the line joining A and B collides with A. The maximum

compressinn in the sp rf_ng 15

=

C A
m — % m | Y Y Y Y ] m

Options :
=
86435112437. V2K
m
i)
2K
86435112438.

ma

K

86435112439. \/

mo
2K

86435112440.

Question Number : 5 Question Id : 8643514145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T SOT @ed A0mN, TECLLOM T md wolt DeSok TR WIRNTIT AR

Esi"i"f';'@L %ﬁﬁ?'ﬁ g L ion*‘ ﬁgpmo'ﬁ K o= @o#&qo&ﬁ DOTEFASCRAT. 2Wen v
SR0DN A FF B YD, ROTIFATOS Jefodg BOMILB d ‘m’ & FWweTTe BIB 'C
ol A Heclr @8 Sedhd. AONTYN MOF JoLeET Seododn

= A B
m T m Ly vy oy ] om
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Options :
| m
ey
86435112437, V2K
- mi
86435112438, 'K
|mo

86435112439, V K

m

B
86435112440. o

Question Number : 6 Question Id : 8643514146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring

constants K; and K, respectively. If the maximum velocities during oscillations are equal,

the ratio of the amplitude of A and B is

Options :
o
K,
86435112441.
||'ﬁ
| s
86435112442, VK2
Ky
K

86435112443, 1

st s
lll\z

| K
86435112444, Y

Question Number : 6 Question Id : 8643514146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Z@o@men Ao Aoeosnise K @ K, 30b® U@ T80&E A0MTNT0D Am TadoDd TUm
3TIVRT AR BRva, SehREoNE. ©oBeeod FmoRTY NoF Sennd Famongd,
AH3 BrY Toond ooy :

Options :
X,
K,
86435112441.
Ky
86435112442, V2
=

86435112443, 1

K,

s

86435112444, -

Question Number : 7 Question Id : 8643514147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11

List - 1 List - 11
.T|'
(a) Phase difference between current and voltage (1) s current leads voltage

in a purely resistive AC circuit

(b) Phase difference between current and voltage in (i) zero

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii) %; current lags voltage

a pure capacitive AC circuit

1 X — X
(d) Phase difference between current and voltage in  (iv) t@an (%J

an LCR series circuit

Choose the most appropriate answer from the options given below :

8/91
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Options :

86435112445, @ (D), (B)-(iii), (0)-(iv), (d)-(ii)

86435112446, @), (b)-(iv), (¢)-(iii), (d)-(1)
86435112447 @ (D). (P)(iid), (c)-(), (d)-(iv)

26435112448, (@)-(i). (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 7 Question Id : 8643514147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T - [Se00n = - I BR0OA.

xi-1 = - 11

! !

(a) =G GpePs TaRFOD HoBOTY Te® DR (i) %;@mam NN ISE
WPID IROT TRA,0ITHY) wielalevcind

(b) 307 HeoF TaIPFOD DOBVTY TTT DB (i) 3w,
QP SBOT TPRR,0ITH)

() 307 F0UT TXRFOD HOBOTY TTT DI (iii) %;@mﬁ@ SAtAT e

APRT BT mﬁm@oédﬁ; &0 TS,

) ¥ = . _] XC KL
(d) =Tedod ‘LCR ShoBOTY T SN (iv) tan {T]

WEET SE0E TRET 030
$UNTINYY FR) ReBTE LUITID), BoRTRA.
Options :
86435112445, () (D)), ()-(tv), (d)-(1)

86435112446, @), (b)~(iv), (c)-(iii), (d)-(1)

86435112447, @ (d), (B)-(iii), (c)-(1), (d)-(iv)
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s64351 12445, (@-(iD), (O)-(iid), (©-(v), (d)-(0)

Question Number : 8 Question Id : 8643514148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435112449 Inductive reactance will be doubled and current will be halved.

26435112450. Inductive reactance will be halved and current will be doubled.

86435112451 Both, inductive reactance and current will be halved.

86435112452, Both, mduc’r_'r'_ng reactance and current will be doubled.

Question Number : 8 Question Id : 8643514148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F ¥ L,: OB WOBODY SN0V, YHFBRITN, TTTIOD TEITRE DR, TRINTY
DTHIT 7

Options :

0D TETE AURTIMST ) TdE CUTFETEman.
86435112449, = e e S, TR® OLF LTINS

TeUsE TATO2 UEFDIRMSTE D) THE QUBRTTRMIE.
86435112450. — = W = = =

Fegdn TOTE SHE ToE odds “CrSmRrhIs,
864351 1045] DEOTE BRERE D) TN OB STEEIRRI

Ze0sD WATOE WD) Te® HURL QUBTTMMNSE.
86435112452, — = - = i

Question Number : 9 Question Id : 8643514149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10/91
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A sphere of mass 2 kg and radius (.5 m is rolling with an initial speed of 1 ms 1 goes up an
inclined plane which makes an angle of 30° with the horizontal plane, without slipping.
How long will the sphere take to return to the starting point A ?

A 30

Options :

86435112453, 000 s

86435112454, U278

86435112455, V22 S

86435112456, -80S

Question Number : 9 Question Id : 8643514149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST0RE s3eri 1awe. /4. ARoDA VTSR 2 kg 004 DD 0.5m & T Aredzipoth Ad3odrobn
30° BReTTW, RRWLT VIEIN AWIOTY WTOToF Bed TrerdIV. Nwedyy) STORS
2o A A LodTMD aFp, AT, éﬁmi@-@;ﬂgd 2

A 30

Options :
86435112453, 000 s

86435112454, U027 S

86435112455, V02 S
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86435112456, -80S

Question Number : 10 Question Id : 8643514150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms~?)

Options :

1
86435112457, 2.0 ms

1
86435112458, 200 ms

1
86435112459, 3.0 ms

1
86435112460, 220 ms

Question Number : 10 Question Id : 8643514150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SO0OT 5 a0e. HTTTY 2000 TYT* BOBI), WBCRNT. BTN ToF: TWTE TWECST, JSFO

ettt st it il rrvend Wi o musie s aeren n RIS SRR T S el s e e
T Reshsd w:gdz:j md% eSO W¥oRD AT0AD mnmmﬂl o B0MD.

=10a0e.5."2 aomd SAhine
& %

Options :

1
86435112457, 20 ms

1
86435112458, 2-20 ms

1
86435112459, 2-0 ms

1
86435112460, 220 ms

12/91
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Question Number : 11 Question Id : 8643514151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v=v + gt Fi2. Its position is x=10 at t=0; then its displacement

after time (t=1) is :

Options :
vy % +F
86435112461 2
2 q
86435112462, Jo 128 +3F
F
(eh) | & - —
2 3
86435112463.
86435112464, 0P8 TE

Question Number : 11 Question Id : 8643514151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
20T BT Eensy v=o,+gt+F2. t=00Q, @00 M x=0 SNE; TMOT B (t=1)
J0IT LU0 TYTIQL :

Options :

vy % +EF
86435112461. 2

% :

86435112462, U0 T 28 +3F

F

(eh) | &  —

2 3

86435112463. 2
86435112464, 0P8 TE

Question Number : 12 Question Id : 8643514152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/91
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A hairpin like shape as shown in figure is made by bending a long current carrying wire.
What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle ?

I

-
Ead

= M
-
l"' +“‘
5 b
\Fl-y
—

Options :
pol
o e
86435112465, <7T
I
PO (2 + )
86435112466, 2™
I
P 193 )
86435112467, 7T
pol
o (2—m)
86435112468, *7F

Question Number : 12 Question Id : 8643514152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AW TOT BROOWLT 2O LWFE 030N, N BITYNR03 JeT e STOITH,
SRT. WoF IEFT HTIOST P 2omhaTY ang@d TODT0ro[ T

-
B

l.‘?

W
=
e
- u*,
\I.I.y
i

A

I
Options :
I
éﬁ%—(z )
86435112465, <7F
kol
(24
2?'( )

86435112466.
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I

BT o 55
86435112467, *TT
pol

;(2 )
86435112468, =TT

Question Number : 13 Question Id : 8643514153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?
Options :
Paschen series
86435112469.

86435112470, balmer series

86435112471, Lyman series

86435112472, Brackett series

Question Number : 13 Question Id : 8643514153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BORTF TTBe Ped Bed Jeednvad, BrohT Jesow SwekIB), BRTARLWIT. BOHTF
TORTeR CRe%3T 0da Jerdodn eeRt IVDRTIHIT ?

Options :

86435112469, % =

86435112470.

S
86435112471, ® g

tRFty Ieed

(¢4,

86435112472.

Question Number : 14 Question Id : 8643514154 Question Type : MCQ Option Shuffling : Yes Is

15/91
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies f; and f, respectively. If the

velocities of the photo-electrons coming out are v and v, respectively, then

Options :
’ 1
2h 2
P —Tg = [F{'h fz)}
86435112473.
. 2 2h
v —% =—lf1 —hl
86435112474. m
71 3
2N 2
7 + Uy = [F{fl ' fz]]
86435112475.
21
o7 + 03 = —{fy +fo]
86435112476. .

Question Number : 14 Question Id : 8643514154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,003 DeS0H QT W SFFRET NN, f) DR f, 987 o[ SNYM, AL TOWIH. BRTARIOL
3T NY Sennsd Fahamen v, DR v, SATT, TOIT,

Options :

1
Zh 2
| — T = H{"'h f2)
86435112473.
2 2h
v — v =—1f1 —fl
86435112474, m
1
Zh 2
7 + 7y = [F{II ' .fz]]
86435112475.

2 2 2h
7y +05 = —|fi +5]
86435112476. .

16/91
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Question Number : 15 Question Id : 8643514155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the fnllowing will be the output of the given circuit ?

A Dﬁ
L
-

B
Options :

86435112477, AND Gate

86435112478, NAND Gate

86435112479, “OR Gate

86435112480, VOR Gate

Question Number : 15 Question Id : 8643514155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QLERWH WOoBOT, TFNIPNYY CSRPWD NFITNLIT ?

L_r\;c
\_
}Y

A—

B
Options :
86435112477, AND Tiee

86435112478, NAND riee

86435112479, NORTIEED

86435112480, INORTicED

Question Number : 16 Question Id : 8643514156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

17/91



3/18/2021
The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 [} resistance is connected across BD. Calculate the current thrcrugh the galvarmmeter

when a potential difference of 10 V is maintained across AC.

Options :
86435112481, =+ LA

86435112482, 244 mA

86435112483, 187 RA

86435112484, 187 mA

Question Number : 16 Question Id : 8643514156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2000 QEFART AeDPoD TR, WINAW BIHEY Ipc0ATLTOZT SNy, Brodd.
150 8regd rﬁzjgpﬁﬁ-mmﬁﬁmi BD Sl RowdrIenhdd. ACoD S@a 10 Vam QETROBTR®,
TOOINBRYTRTT, MOBATRTIT VT TONT AN TFoTJIW, ?

Options :

18/91
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86435112481, >34 pA

86435112482, 244 mA

86435112483, 187 pA

86435112484, 187 mA

Question Number : 17 Question Id : 8643514157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12 cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=10.693 )

Options :

: 1
86435112485, 116X 107 kg s

3 2 1
86435112486, 009107 kg s

i 3 1
86435112487, 0/ <107~ kg's

2 1
86435112488, 0 <107 kg s

Question Number : 17 Question Id : 8643514157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,000 2OTFT} HeDATOHE 1kg Todod RO, STOPS T8 1250.50¢. Arodn sodneodmrnzod
SRe3. 22e0T|NY FOST ToTe) 6F0.80e. 71 FRDOIRMHIT. 88 WOTOD =0HS 3000833,
BESPA. (In2=0.693 20T INERY)

Options :

86435112485, 1-16>10% 828 F -1

4 2 = |
86435112486, 0-69 X 10~ &5 &

86435112487, 2.7 %1073 &3 & 1

19/91
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2 oz =1
86435112488, 33 % 10- 3% &

Question Number : 18 Question Id : 8643514158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f one mole of the polyatomic gas is having two vibrational modes and 3 is the ratio of molar

C
specific heats for polyatomic gas [[:‘: = C—PW then the value of 5 is :
8 V.
Options :

86435112489. k2

86435112490. L

86435112491, 137

86435112492, 1-02

Question Number : 18 Question Id : 8643514158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,000 Fee® WIDTTHIEN LAVP) T TOTIT BREFNYR, BROOTT I, B 020

itk i : ; e . : ( - :
WTIDTDREWN AT 2RRTT wdd d DN Yo p= fos i W0, PO
o ' i
L st ‘!,‘-r/'

86435112489. 22

86435112490, 12

86435112491, 132

86435112492, 1-02
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Question Number : 19 Question Id : 8643514159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermnd}-'nan'nic processes ?

o,
T «—— adiabatic

isothermal

W

v—s

()

F.
T «——isothermal

adiabatic

T—>

Options :

(a) only
86435112493. =

86435112494, |
86435112495, (©)

86435112496, (©)

Question Number : 19 Question Id : 8643514159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b) and (c)

and (a)

and (d)

(d)

3

/ f isothermal

adiabatic

.
-

] —

P

isothe rmal

]

%

T—>

R,

adiabatic

W

T—>
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QU QDG TS DeRFT TFoPNATN, CRPT FOIRT SoRCITNT ?

T.ﬂ.
P

«— R irfeodn

< RN TR0V

<—

L
Ead

A

e—— Do drod

S aplelaoldews)

Options :

86435112493.

86435112494.

86435112495.

86435112496

(d)

/J,/ TETOLEoOW

es00edeod

T—

Question Number : 20 Question Id : 8643514160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object is located at 2 km beneath the surface of the water. If the fractional compression

? is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

Given : density of water is 1000 kem 2 and ¢ =9.8 ms ™ 2.
i 5 5

22/91
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Options :

86435112497, 1.96x107 Nm 2

86435112498, 144107 Nm™ 2

5 96 % 109 2
86435112499, 226107 Nm

86435112500, 144 %107 Nm ™2

Question Number : 20 Question Id : 8643514160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

20T WA, edE me-ﬂwﬁom 2km3IPATCRAT. RoLeBIod N \_G‘f" 1.36% <00,

SRl LET I BT, ACWOHAT TRWIT LPeTNY STTIPY SNE.
(08 moT? 1000 kgm ™ &3 g=9.8 ms™ > 709.)
Options :
2 7 2
86435112497, 1.96>¢107 Nm

86435112498, 144107 Nm~2

7 VA o9 2
86435112499, 226107 Nm

86435112500, 144107 Nm ™2

Physics Section B

Section Id : 864351278
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351278
Question Shuffling Allowed : Yes
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Question Number : 21 Question Id : 8643514161 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 pF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C > 0on equilibrium condition is _ pC. (Round off to the Nearest Integer)
S
S1 52
2 uF § nF
1ov] Tc, Tec,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514161 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wRTW 2 uFS $oTs C, @c&% EZ"-:EEEJ-?T% eoTodeena 10 Vs::z;mo@d% DWW, HEINRVAT.

i
o

DOTT BReIDW, SN W FoUTHW, 8 uF T SHEINRTAT ToTUF G, N1 AOTIFITINT.

PR AR I %@ﬁ@__ C, s9ha waedsy) pC. (BETT TRHVFOTY, BERORTOOT)
S. S
1 o2
2 uF 8 WF
10V Cy 2,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 22 Question Id : 8643514162 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)

[Take g =10 ms 2]

W
E i

W
E

LS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514162 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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D22 4kg oD 2.2 TWNR, BOMWITLT T0d 5 kg 0N DTIT DoRT Hed VOSTF. DT DHR
SU8 IBOT PRFE IT0FY) 0.5 SN, HTT Do 3T, F¥HOT ¥ARTOZ BRI
INT Hed ToBI MOF WO N. (B30T Temorodd a9MRTO0T)

[g=10ms 220w 3riching)

W
L

L
M

i
*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514163 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an Dhject placed in air formed b"i, a convex rel ractf_ng surface is at a distance of

rd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

the surface. The wavelengﬂl of Iight inside the surface is — times the wavelength in air. The

3

; - : :
radius of the curved surface is — m . The value of ‘1" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643514163 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Led JHeIRs e Qod 10 m BeoBY Hed B Logpndd Moo SRON0T

YUOERT WO %hmﬁ% W0 S0 MSw ﬁ?ﬁﬁﬁ ORTR ?H%ﬁ. mf'ﬂwﬁ.&‘f&ﬁﬁ kel oy

30omeo30sy) MeoRYma H¥ss 30oMmosTh ;Ué:ém. wE WeS,T Sw % m SToe,

‘¥ 3 LS03»

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514164 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

x
NE E. Where the value of x=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514164 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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100 W& 2,000 WeFR0T 3 mEBRITY ©TT L3THNTOT twSodna AW 33T Semdodn
Eshd. ot 0ptdyd 0 WL LoD wihd QsTensd v0I3Snmnms am s gf@d Se=B ol

HE E. 29 %' 3 aPoxy
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514165 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x 102 Hz, has permittivity £¢=80¢, and resistivity

p=0.25 {Im. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10" times the displacement current density after time t = 800°" The value of x is

(Given :

= 9% 10 Nm?C™?)
dmeg

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514165 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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BT eT> f=9x102 Hz , 8530300 I, dew3 =80y T TReys3

p=025Q ma, BROOT. 1O A=CST FoB POUTD, 0T WNYNAT T S[eT
TodeFod LFPT 3T V() =V, sin(2nft) o8 LBIRMEDT 20T ek, TO3T TTI

: . ——— o
WO TERET FROTIZOM MITQE U Tmedh Tomgoieoln wo, t= 300° g,

10" SmprEdoinad 13 ISP ShT.

( =9 x 10? Nm2C 2 aoh 3pzeRnd)

d1reg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514166 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given by E = %E{}; I %Eﬂ ; with Ey = 4.0 x 1[13%. The

flux of this field through a rectangular surface area 0.4 m- parallel to the Y~ Z plane is
Nm? C 1,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643514166 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. ’ A o . o N
20T FYOOT A FeTD, E = EE{,; | gEﬁ; QO BRBUING AP Ey = 4.0 x 1[133.
Y ~ ZA308 AawogTwmon 0.4 m? Sed ; QRernr s SoRT0Tesn whed, 7Y TomBRITOD
3 W §¢§cs WINPT, Nm?C~1,

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643514167 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

X a X a
il Cion o s
3 3

xis

. (Round off to the Nearest Integer)

[a is an area as shown in the figure ]

Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514167 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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DIORT & MBRIN Hed; ToTE 0 BB woR WYoD®, BIBY 3Re0AT. TGN
Bt . e . . (xa x a A S

WYOD (¥30Y TIRNT M) Tod FeoTm W f; e —W S0 x & WSO
' L e \J T I w)/

(BSTT TRTEF OFF, TREF NRTIHD)

[a" Qowtd HSEQ 3Re0ATOT QAcRF |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514168 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction % It is desired to make the bod}-' move h}-‘ appl}’f_ng the minimum pnssibie force

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms ™2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643514168 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

33, B W FIFH IO BROOLT FBY F0T FHed 1kg TodoR TWFPO

alF

AZORONYT. ‘F N2 J% Eanlatvpin AL "dm Todreha T[AL a'i, @O0 wWRBEER -*az&efud.

‘T3 &com) . (BETT BR@FOTE TREFNLTRRI)
[g=10 ms™ 0w SALERY)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514169 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Ugrt. If

i
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where

o 1S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514169 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2,00 geod 253 Ee3 U(r)=Upr' BQ Tod m qoha readpord Fdead sdodg 897D

LRCTOmT TYORICTOD szaaodawmﬁ SR[ONADT, TR0 ﬁgﬁ@ 2%, 1 QOLRIN, no VRS

BT3B, AP a P SN
Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643514170 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Supp ose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 em? of oleic acid per em® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

e

3 i
radius (K x10"% cm. Then the thickness of oleic acid layer will be x <10~ m.
™)

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514170 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AROTE 0.01 cm? IZH LOF ST, Dy 1 cm’ THRROT SDERLOBT HOW Naka.

L=

TIN Ay hwre LT gbon 100 Areveod &k, (HW X107 em 2t DANTI,
: 3 )

woneda, Haceer 4cm? [T Shaed BRTOD, (NF wny TT) IR, TMT0, LIF

ST ooy BT xx107 M m. s58 2 8§ DS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351279
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351279
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435112511. 5

NO,
86435112512. &

O,
86435112513. -

0
86435112514, 2

Question Number : 31 Question Id : 8643514171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
39NT wrnvg, Oedeod &rade) :
Options :

86435112511. 5
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86435112512.

03
86435112513, -

I

e
86435112514. =

Question Number : 32 Question Id : 8643514172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?

(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

(C) Nig) + 3Hy(g) — 2NHy(g)

(D) Adsorption of CO(g) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :

g6a35112515, <) (B) (C) and (D) only

86435112516, (A) (C) and (E) only

86435112517, (A) and (E) only

86435112518, (B) and (C) only

Question Number : 32 Question Id : 8643514172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FUNT ol ohong, aotiprd BPFcIRMGH ?
(A) 0°CTQ, detd sHozongdoieh TRFOWFHTD.
(B) 10°C Y, e oMW FRETORTTR.
(©) Ni(g) + 3H,(g) — 2NH,(g)
(D) &exnd ed ;B9 CO(g) ©QBReTBAITIMOH.
(E) 26039 NaClQ9emd Bromhamp.
39N QeBTOT woPNYY 2O ITI, SOAD.

Options :

(A), (B), (C) =& (D) =3
86435112515. &

A), (C) &3 (E) &3
86435112516.{ g -k moen AT

(A) 3> (E) 323
86435112517. =

(B) 03 (C) 528,
86435112518.

Question Number : 33 Question Id : 8643514173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :
Options :
24
86435112519, 02

b
86435112520, 112

PO
86435112521

SO3
86435112522.
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Question Number : 33 Question Id : 8643514173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
adoedeod m-ﬁa’:ﬂl noEntimen (Lokesdxen), FYNTZHYNTY nu% xogeRes I (x’m’aﬂmﬁ 38)
cx::m% BLRODTVFT
Options :
BaZ*

86435112519.

b
86435112520, 112

PO
86435112521

SO3
86435112522.

Question Number : 34 Question Id : 8643514174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sets is :

Options :

86435112523, be - Al

86435112524, B=Si

86435112525, Li-Na

86435112526, 1~ M8

Question Number : 34 Question Id : 8643514174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WOAT FOWOE IROOTT YT TN BRIRNFOT PITFoNIT INTG BRBOIW !
Options :

86435112523, be - Al

86435112524, B-Si
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86435112525, Li-Na

86435112526, L1~ Mg

Question Number : 35 Question Id : 8643514175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Haematite () AlLO;xH,O
(b) Bauxite (i) Fe,O,
(c) Magnetite (iif) CuCO4;Cu(OH),
(d) Malachite (iv) FeyO,

Choose the correct answer from the options given below :
Options :

86435112528 (@)(it), (b)-(i), (c)-(iv), (d)-(iii)

86435112529, @)-(1¥), (b)-(i), (c)-(ii), (d)-(ii)

26435112530, (@)F(1), (b)-(iii), (c)-(1), (d)-(iv)

Question Number : 35 Question Id : 8643514175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -1, T - 1T Hed BoohA
T3 -1 =ed - 11
(a) Bede (i) ALO;xH,0O
(b) o8 5= (i) Fe,Os
(c) Swrgge (
(d) DoBEF(EE) (iv) FeyO,

YN oYY TOCIRTTR SOA.
Options :

86435112527, (@), (b)-(iii), (c)-(ii), (d)-(iv)
86435112528. (@)-(i), (b)-(1). (c)-(iv), (d)-(iii)
86435112529, (@), (b)-(1), (c)-(ii), (d)-(iii)

26435112530, (@) (1), (b)-(iii), (c)-(1), (d)-(iv)

Question Number : 36 Question Id : 8643514176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i) CuCO,-Cu(OH),

The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :
Options :
5031-1 and NI—I:,_

86435112531.

8643511253y,  1VH, and —COOH
NH, and —SO;H

86435112533. :

26435112534, SOsH and —COOH

Question Number : 36 Question Id : 8643514176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

39/91



3/18/2021
RIFTUIRH DR, ST UTRD LAFOD TeUNY (SAT) YOI LATORT MR
LTI DOIWTOH FOITD MROTRNTY IO
Options :
SO,H @@ —NH,

86435112531.

NH, &3 — COOH
86435112532. =

NH, &3 —S0,H
86435112533, et S

SO;H =3 — COOH
86435112534,

Question Number : 37 Question Id : 8643514177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH (1

86435112535, *

Ca(OH),
86435112536 2

86435112537, —2Ch

NaHCO,
86435112538, :

Question Number : 37 Question Id : 8643514177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MY, LRILoT NH, IS0 mR@merdayg S0iRoms 20 YuIUuSHa) -
Options :

NH ,C1
86435112535. 4

Ca(OH),
86435112536 2
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86435112537, —2Ch

NaHCO
86435112538, -3

Question Number : 38 Question Id : 8643514178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :
s643s112539, O 2nd NO

N,O and NO,
86435112540. = S

86435112541, VO and NO,

N,O and N,O,
86435112542, = T

Question Number : 38 Question Id : 8643514178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SPRETS W o FRYE, J$ROAWT neF :
Options :

86435112539. Lictia DO

N,O &3 NO,
86435112540,

NO @33 NO,
86435112541. i =

N,O &3 N,O;
86435112542,

Question Number : 39 Question Id : 8643514179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The common positive oxidation states for an element with atomic number 24, are :
Options :

86435112543, 110 16

86435112544, T21t0 +6

86435112545, ' 1and +3to +6

86435112546, + 1 and +3

Question Number : 39 Question Id : 8643514179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DS[OTAWDIOW, Iio:.:’:g; 24 BROOHTIS TS m:mau cﬁ'méﬁﬁ w%ﬁ?ﬁ ngéi"’i?;i: :
Options :

86435112543, 11008 16

86435112544, 2000 +6

F183) +3 000 +6
86435112545. ==

F1233d +3
86435112546. e

Question Number : 40 Question Id : 8643514180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHi)gl [Cr(CN)g] (i  Linkage isomerism
(b) [Co(NH;); (NO,),] (i) Solvate isomerism
(c) [Cr(H5O)s]Cly (iiif) Co-ordination isomerism
(d) cis—[CrCIz{DKJEF (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
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86435112548, @) (i), (P)-(1), (c)-(iii), (d)-(iv)

86435112549, (a)-(ii), (b)-(i), (¢)-(ii), (d)-(iv)
86435112550, @1 Y), (B, (0)-(iid), (d)-(1)

Question Number : 40 Question Id : 8643514180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teg- I, T3 - 11T Bnd TRODA.

T - 1 xg - 11

(a) [Co(NH.)g [Cr(CN)] () Bnod RZWond
(b)  [Co(NHy); (NO,)4] (i) RNY F=TONS
(©) [Cr(H,0),CL (i) FEFOD SO
(d) cis-[CrClL(ox),]? (iv) @8 FSoNS

$9NT SoRHAYY TooIRa VIV, HOR :
Options :
86435112547, (@)1, B)-(ii), (c)-(iii), (d)-(iv)

26435112548, @), (B)-(1), (c)-(iti), (d)-(iv)
86435112549, (@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

86435112550, @) (b)-(i), (c)-(iii), (d)-(i)

Question Number : 41 Question Id : 8643514181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth

Choose the most appropriate answer from the options given below :
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Options :

86435112551, (A) only

86435112552, (B) and (D) only

86435112553, (©) only

86435112554, (D) only

Question Number : 41 Question Id : 8643514181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
88 TPLLITHRT BDOTT TePINYY SRZYT(F)) ITE FTRTONS ?

b
e

A) nwewond @éc vvmoleen

(

(B) =»&esny e svmodeen

(C) 2ed (xeEt)IYod TumeD NBENY ToT3

(D) =30 (eD)TY0D Brexzoosns dnddodn BN s SBosRHI
3YNT SoNYY AT LUSTH®, ©OAD.

Options :

86435112551, (A) SR
86435112552, (D) FF, (D) 572
86435112553, (©) PP2
86435112554, (D) 52

Question Number : 42 Question Id : 8643514182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nitrogen can be estimated by Kjeldahl’s method for which of the following compound ?

Options :
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-

86435112555. s
86435112556. CHy —NK,
fj
Sl
86435112557. N
— + - —
86435112558, ~ N=NCI

Question Number : 42 Question Id : 8643514182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FENT Clm® :;'or:dxﬁ:jm% B (EopF) AEahoT a'ﬂaigmﬁmﬁ Slelant~r AL Ianlitnii]

Options :

86435112555. L

86435112556. CHp —NH,
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86435112557. N

+
86435112558, ~ N=NCI

Question Number : 43 Question Id : 8643514183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435112559, (A) only

86435112560, (B) only

86435112561, (1) and (C) only

86435112562, () and (C) only

Question Number : 43 Question Id : 8643514183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
%ﬁ@pﬁ:ﬁ SR,8e0IRT0INF(0R) ROCIRT BeeR(Msh)oiN :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :
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86435112559.

86435112560.

86435112561, N = © e,

(B) &3 (C) 323
86435112562. = >

Question Number : 44 Question Id : 8643514184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,,
Choose the correct option :
Options :

86435112563. Both statement I and statement Il are correct

86435112564. Both statement 1 and statement 1l are incorrect
86435112565, Statement 1 is correct but statement 11 is incorrect

86435112566. Statement 1 is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643514184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Beod 1 : 2@@;@9 AVl 93, KMnO, DlelATS SOZAE ATION 2-e08 ﬂ@*‘mﬁfs o -2-e30F
BB,
Fewd Il nsgeanvm, KMnO,3R000 RO tUSHF Srieva M0l SEgemaer v,
TBobwET.
HOCIRE Sokohad, SDA.
Options :
Seod 13020 Seed 1150 46l
86435112563. E
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Teed 1aha Jeed Il STmngs.
86435112564. = e

26435112565, 2L FEIRO 3T 8T8 Eewd I1STNE.

SeeF 1 3moht <Sul Jeed 1170 9.
86435112566. w

Question Number : 45 Question Id : 8643514185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement rega_rding the formation of carbocations A and B given.

e
»> CH__’.!_ - CHE - CHI b CHE + Bl'_
L A’r

'CH-';— (:Hz —CH = LP:HE + HBr

+
> CHy— CH,—CH—CH;+Br~
.f.-"Bﬂ

Options :

26435112567, —arbocation A is more stable and formed relatively at slow rate

86435112568, Carbocation B is more stable and formed relatively at slow rate

26435112569, Carbocation A is more stable and formed relatively at faster rate

86435112570, “arbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643514185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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+
» CHy— CHy— CH, — CH, + Br~
JI-A.H'

CH,;— CH, —CH =CH, + HBr

1
» CH; — CH,— CH—CHjz+Br™
-’.I'BH'

moeed ﬁ.@-&i&;ﬂ ﬁﬂ@?fﬁaﬁf LoIRWATRT ‘A’ DR, ‘B ZoinoEn mowodamod IooIRT
Teedodn :
Options :

86435112567.
ﬁ&i@-:—-ﬁﬁhﬁ‘@mm’ﬁm T¥F 0T BrodmH =B mz’-fsimﬁ ATeE ToTY

B0IRTMIS .

i
C

86435112568.
TORERF CRIFYIRHE ‘B o0 BYE JTF BeodW) BDHR, MITMN TS TTTY

clevwnlentyVeontast

86435112569.
ﬁﬂ@a—‘r&@&f&:mm’xm 3w Ao m’.moac% ng ma’-ﬁamﬁ =eno nelald)

B03RTMR .

86435112570.
TURF CRITFUIRM ‘B oin TWT AT Jeodd) T, mTeF@on Hend TTTY
S0dRTRMER.

Question Number : 46 Question Id : 8643514186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CiaHon Oy + HoQ — 28, 0 HeoOp + Cets O
Sucrose Glucose  Fructose
- Enzyme B e =
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435112571, [nvertase and Zymase
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8643511257, Zymase and Invertase

86435112573, mvertase and Amylase

86435112574, Amylase and Invertase

Question Number : 46 Question Id : 8643514186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

#3 A

CIEHEZC}'H f HZ{.-} —_— lef_-}ﬁ |{._()H12{_-}ﬁ

=

Ao nd mdeeT TR
869, B

{‘—ﬁle('-}(}—} . EHE{_-}H | ?{._{_-}2

Dewor $oBNYY, FHWN A DI B S ¢

Options :
JFEIFET A BFToeA

Fat

86435112571.
86435112572.

86435112573.

),
86435112574, ~ ¢

Question Number : 47 Question Id : 8643514187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
OCH,

(A)

In the above reaction, the structural formula of (A), “X" and “Y" respectively are :

Options :
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5 OCH,

H H
* H D ‘H -+ HC

86435112575.
N, OCH,
?
+ CH3—C—-H , H)0
86435112576.
N5 C1-
Ii :}1
OCHj,
86435112577. :
il iy
D
+  CHy—-C-H , HC
H
86435112578. OCH;

Question Number : 47 Question Id : 8643514187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,
(A)
=D ﬁﬁ:ﬁ'@ Eﬁ.ﬁ‘ﬁ , X 5"& wy” Ty -

Options :
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5 OCH,

H H
* H D ‘H -+ HC

N, OCHj,

v
+ CH3—C-H, H0

) Cl-

Nz
I.i : ,: “\ H-O
r H O H - 2

OCHj

86435112575.

86435112576.

86435112577.

Nf:r Cl—

i
+ CHz—-C-H, HC

YCH
86435112578. OCH;

Question Number : 48 Question Id : 8643514188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435112579. Chloroform and KOH

26435112580. Benzene sulphonic acid
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86435112581 para-Toluene sulphonyl chloride

86435112582, Acetyl amide

Question Number : 48 Question Id : 8643514188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BT LOTOIRENOOT TRFWS, QBe0H I WRFO VINT NV, LONER(WeTF BR)WIMTING.
Options :

dpedregoo @3 KOH

86435112579.
HoRee AdReAT =

86435112580. ¢ =
TO—tRORT IEReH 30

86435112581. 8 o8- TetS
SR N

86435112582. E Y

Question Number : 49 Question Id : 8643514189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 1L

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (i)  Artificial sweetener
(c) Sodium benzoate (iii) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435112583, (@)-(1), (b)-(i1), (c)-(iv), (d)-(iii)
86435112584. (@)-(i1), (b)-(1), (c)-(iv), (d)-(iii)

86435112585, (@)(1v), (b)~(iil), (c)-(i1), (d)-(i)
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86435112586, (@-(ii), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643514189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ji - '.L Tl -1 © Xed Broda.

Jed -1

(CTROLT Wociny)
a) =edees )
(b) 20¥ T NIGE® AXT (i)
() ArcRohar Bodren (i)
(d) Hodeemoer v

TocinG eﬁofa:;r:im% &S0,

Options :
86435112583, (@)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

86435112584, @)-(1), (b)-(1), (c)-(iv), (d)-(iii)
86435112585, (@)-(iv), (b)~(iit), (c)-(ii), (d)-(1)

86435112586, @)-(ii), (b)~(ii), (c)~(iv), (d)-(i)

Question Number : 50 Question Id : 8643514190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :
Options :
86435112587, Aldohexose

86435112588, [etohexose

86435112589, Lyranose

86435112590, [ieptose

F«I_

mis - 11
(evcdacn)
AOTEAS DIVWFT

83% ALWE0T
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Question Number : 50 Question Id : 8643514190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TRBRET WO YUTRTBORRNG
Options :

BORETBRCT”

86435112587.

2 DA D
86435112588, OC LAREBRCAT

86435112589, 9

86435112590, &

Chemistry Section B
Section Id : 864351280
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351280
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514191 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gas at STP is 10 (Round off
to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K~1, N, =6.023 x 10%]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 8643514191 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STP chg 20 mL I3, 30007 wAOTIHS 30T TU=Teene Fo3,000 e |
(ReNCTT TRFTOFOT)
[STP o 307" ©AVTW, 1o STIF YIVROW FPIY
R=0.083 L bar mol "' K~ 1, N, =6.023 x 1023]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 > mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K:39.1u, Br: 799 u
N 4, =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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KBr &, 10 B TAFOWFIW, SrBr, dechil BeT FBECND (2T FedICND).

1 ey sa, KBraiisndod :ir¥eainds od ennd Hossedn 1014, (Zawemm
TRTOFOT)

[Co=%e Ted:K:391u, Br:799u
N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%107 ! BM. (Round off to the Nearest Integer).

[Given: /3 =1.73, 2 =141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe(Z=26)T BRrAZ0DY, T0IDTIH) x 10" 1 BM 8Ad. (RaneTT Temorod)

[B3: V3 =173, 42 = 141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 54 Question Id : 8643514194 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A T molal K, Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.

The molar mass of A is u. (Round off to the Nearest Integer).
[Density of water = 1.0 g cm ™ ?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514194 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

20w 13necnes K Fe(CN), mameesy 0.4 Q03Renm00du®), BReo0E. |ns Toessn
RoWsY, 18.13c3@oTOW ST (JOIT, TAFOW®) LWQIIBIYT TFH, A ODZ, WERORE
TREENE ANTNT. AT WRCHT TSN u. (ReRCTT TRHor 0F)

[Redm moomE = 1.0 gcm 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514195 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction N 204(g) === 2NO;(g)- The temperature at which K(_.=2{].4 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 55 Question Id : 8643514195 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

303000®, TOMEIA, N,O4(g) == 2NO;y(g) . Kc=204 3033 Kp=600.1 3Q oI
K. (Rauean TeioFow)

[oep waonsd sudF@bom Pood &I R=0.0831 L bar K~ mol 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514196 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A KC1 solution of conductivity 0.14 S m~ ! shows a resistance of 4.19 () in a conductivity cell.
[f the same cell is filled with an HCl solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is x10"2S m~ 1. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514196 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

200 BITTT0 3e3BY KClmpEeng 0.14S m™! SZIZoda, AR 4.19 O Segad,
3ROMWFYD. 2o Fed vde dre3ng HClm@eam®, P Snemn Seegsy) 1.03 03
RYOINP . Tonewld HCI tomesd Sma3odn x10~25m 1, (FnexT memor o)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :
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100

Question Number : 57 Question Id : 8643514197 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A 4 Bp_ — 2AB is an r_-lr_-mentar}-' reaclion.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514197 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2A+B, —» 2AB Ol 0T TROOPT o SNT.
2.0 DT TRPHT FoIPWTBNTMRN, 0PI MTHR, 3 T, (MELFTY) APITONG.
SolRBENTYR :ﬁﬂ%ﬁ- M%) . (ReDeTT TRTOFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514198 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is
(Round off to the Nearest Integer).
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 58 Question Id : 8643514198 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
KOH®, w97eoB 5907 St wdeod mEeteoln FeCl;peerson S8FAT0, w035,
A 3030, ¥0IT, A cRYT Fe 0B QSeod Hedoin . (RENCTT TRTTOFOT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643514199 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (CzH;,0) is
to the Nearest Integer).

_. (Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514199 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

waiees, NaOH dwobn méra Ao’ og @ (CHjO) dedamme. @il
©g EFR(nYgs) C-Camy wog(n¥) "oa3oin . (RENEeTT TRFmFoT)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514200 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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=0

O
~da i H )
+ CﬁHENHC,ﬁHS E— Lf}l IE—L— [\—{{_61 ]5]2
0.140 g 0388 g 0210 g
Consider the above reaction. The percentage yield of amide product is . (Round

off to the Nearest Integer).

(Given : Atomic mass : C :120u, H: 1.0u, N:14.0 u, O: 16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514200 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I .

C
o]
0140 g 0388 g 0210g
2edT SOOI, YRGREBA, SIE* YIS0 JETEWITL BHWOOID . (RewneTT

TRTTVECOT)

(d% : 0D d : C:120u H:1.0u, N:140 u, O:16.0u, Cl:35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
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Section Id : 864351281
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351281
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643514201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i X . . —1| 2 1 ~1| 2 2 .
The number of solutions of the equation sin | x° 4 & F cos X = = x*<, for

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is:

Options :

86435112601, U

2
86435112602. ~

e

86435112603.

86435112604, Infinite

Question Number : 61 Question Id : 8643514201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xe[ —1,1], DR [x] 2020T NOF JRFTIFOT <x VWM sin_l[le %} I cns_l[xz

L3 | k2
T |
[l
it

[

XaNeTORT TOTAONY X0,

Options :

86435112601, U

86435112602. 2
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86435112603, %

86435112604. i

Question Number : 62 Question Id : 8643514202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (prq)®(p2q) is a tautology, then ® and = are respectively given by :
Options :
Y,

86435112605.

86435112606, r

86435112607. "

86435112608, "

Question Number : 62 Question Id : 8643514202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(prg)e(peq) 202 wRIODT LECI TWHICIRTT, » W @ N SWTTRAN
Options :
86435112605, " ¥

86435112606, “r

86435112607. "

86435112608, "

Question Number : 63 Question Id : 8643514203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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— M Fa% Y — ) A A
Let O be the origin. Let OP =xi + yj kand OQ =—-1 + 27 + 3xk,x,yeR, x>0, be

. — : —} . — : —} A F.Y A
such that [PQ| = 20 and the vector OP is perpendicular to OQ. If OR =3i + zj - 7k,

—3 =
z € R, is coplanar with OP and OQ, then the value of x2+ 12+ 22 is equal to :

Options :

86435112609.

86435112610.

=]

86435112611.

86435112612, ¢

Question Number : 63 Question Id : 8643514203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
; i Py : — A A P — A A A
O Zeoom. x, yeR W x > 0 QAN OP =xi + yj— k&R OQ =—i +2j + 3xk
o |2 ol 2 ) . |
200 ARINY |PQ| =20 8hG EJ":EE: OP 03 OQ n @owxmand. ze Raman

: ﬁ* M M A ;i _—} i ; : —) = G5 Eais y : T "
OR =31 + zj 7k 2020y OP E:Ei 0OQ TwRCON DTAWIVI W0 x=+y

Lo :
Options :

86435112609.

86435112610.

~1

86435112611.

86435112612, ¢

Question Number : 64 Question Id : 8643514204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 42 «x

of the matrix |4 5.2 y is zero, then the value of k% is :
5 Kk z

Options :

86435112613, ©
86435112614
86435112615.

86435112616, /2

Question Number : 64 Question Id : 8643514204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X, Y, z N0 AWTIVOST JeRNAYYT) [RNT TR, #,39,8 d SAT, x # 3d 8hd.

3 A3

X

3203 |4 52 y |3 2gersEd dS Beg (ReE)=end k23 235
5 k z

Options :

86435112613. ©
86435112614, 14
86435112615.

86435112616, 72

Question Number : 65 Question Id : 8643514205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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tan(w co 5.2[]]

The value of the imit lim

- 5 is equal to :
8—0 sin (2 sin™0)

Options :

1
86435112617, 4
1
;
86435112618, 2
1
86435112619. 4
0
86435112620.

Question Number : 65 Question Id : 8643514205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
tan{rcos™B) |, . .
{ — G BEI000

lim — o
8—=0 sin (2 sin”0)

Options :

1
86435112617, 4

1
;
86435112618, 2
1
86435112619, 4
]
86435112620.

Question Number : 66 Question Id : 8643514206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1
lﬂl e
sin 27 x| il ;
=" dx =ae™!+ Be 2+, wherea, B, y are integers and [x] denotes

If the integral j

the greatest integer less than or equal to x, then the value of a+ § + v is equal to :
Options :

86435112621. 0

=

86435112622, 10

-2

86435112623, 20

I~2
wn

86435112624.

Question Number : 66 Question Id : 8643514206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol b oy . 2 il 10|gin 2x]
o, [:": “-T‘l"'u'-j" *“EFOEH%’HHE [JL']JC:C" Whfan HD% IRTIFOT <y @A, MIEY : ?[I]Fﬁ
e

1
2S0d0 dx =ae '+ e 2 +y SEE a+P+yT SSodw :
Options :
86435112621, ©
86435112622, 10U

86435112623, 20

86435112624.

Question Number : 67 Question Id : 8643514207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the curve y=y(x) is the solution of the differential equation

5/ 1/ 9/
2(x? 4 x4)dy—y(x + x*)dy= 2vx* dx, x > 0 which passes through the point

4
(Ir 1 3 iogEE] , then the value of y(16) is equal to :

Options :

86435112625.

31 8
O s A
86435112626.

(% I %lngeﬂ
86435112627. “° : g

86435112628.

Question Number : 67 Question Id : 8643514207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x > 0 [men y=y(x) 0w & T, 0 es0 03 U FOT Maneroee
. 2 5/ 1/ 9/ - I W | 1 1 4 l 2)
2" + ) dy—y(x + x*)dx = 0 dxT FTOTTWNT =y | L 3 OBe ] Q0

RODAT DRVT TTBRTT y(16) 3 B -

Options :

86435112625.

o 2%
86435112626. )
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L

86435112627.

86435112628.

Question Number : 68 Question Id : 8643514208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential equation

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x _% y(0)=0. Then, y(%} is

equal to :
Options :
2log, (’;,ﬁ SW
86435112629. g
EIGgE [‘ﬁ l ’TW
86435112630. 2 )
2log, {—Zﬁ l 91
b 6 J
86435112631.
ngﬁ[z\ﬁ | 1{1)
86435112632. ¥ R

Question Number : 68 Question Id : 8643514208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O=x= ) [TeN cosx(3sinx +cosx +3) dy = (1 +y sinx(3sinx + cosx +3))dx Q0 BHFOD

Tenested 0T qu y(x) & r:;"y{{] =) =m0 j(% =

Options :
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. {Zﬁqﬁf 8)
86435112629. .4
(3 4 F’W
Elngﬁ[ =
86435112630. S e o
>
EIngP{"‘E ! r9|
L. 6
86435112631.
243 + 10
ZIGgE[J_TW
86435112632. . g

Question Number : 69 Question Id : 8643514209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

|2—sin| || x|, x=0
Consider the function f: R — R defined by f(x) = { [ 'k x/ J l, x 2 . Then fis:
r

, x=10

Options :

monotonic on (0, =) only

86435112633.

monotonic on (— =, () only
86435112634. 2
86435112635, Monotonic on (—o, ) v (0, =)

not monotonic on (— =, 0) and (0, =)
86435112636.

Question Number : 69 Question Id : 8643514209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. 1
%m(— [ LRt i | y B
,|r R— R a0 ‘JAL-'E'_:?Q f{.’l — \I[\ P, | | F SOTH ?Jg}ﬁ% iﬁ Tomsd
!L r X = 0
f®:
Options :
Q6435119633 3630 (0, =) 0DY, DFOE30H WTSHTHOIPBIOIT
s6a351 12634 RO (— =, 0) 0Q DE0e30D WHRBHOIRHIT
86435112635, (~ Z/ 0 (0, =) oDY 2BOe0D WHORHBOIRMIT
86435112636 { xrm m@i {[]r Jijﬂg J_‘b@.‘ﬁrf HFOe0D LTHEE ”_‘;ﬁ:@{]%&

Question Number : 70 Question Id : 8643514210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

[r] + [2r] + ... + [nr1]

lim
I—3a 1'12 i

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :

Options :

86435112637, ©

r

86435112638, 2

86435112639, 2T

86435112640. 0

Question Number : 70 Question Id : 8643514210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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I QOWT IRTJWQRT WoAT A0, W, [r] Q0T NOF TRLFI0J, < r SWen

[r] + [2r] + .... + [nr]

i 2 Erpte
: n
Options :

86435112637 ©

I

86435112638, 2

86435112639, 2T

86435112640. 0

Question Number : 71 Question Id : 8643514211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

with probability of occurrence of 0 at even places be 5 and probability of occurrence of 0 at

1
the odd place be 7. Then the probability that “10" is followed by “01" is equal to :

3

Options :

i
86435112641,

1
86435112642, ©

1
86435112643, °

23

86435112644, 18

Question Number : 71 Question Id : 8643514211 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2,000 MEIFONOTE WORFTNTY T30 003 1W, voZodeend QBRI F0BJOH 2.0

i . SRl SRR ot L R R S
xoeSoba, SuAE. STIY 00m0 Fd FFEY W ogiaeohIond 5 w3 00k 833 MFHEY

LW AOLPRICONS0IN 3 SHD. TMme0 ‘01'T R03T 107 2200 SOTNY TOLBACCI30IN0 -

Options :

=

86435112641.

=

86435112642.

0| =

86435112643.

86435112644, 18

Question Number : 72 Question Id : 8643514212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to :
Options :
86435112645, 360

86435112646. J64

86435112647. 333

86435112648. 22y

Question Number : 72 Question Id : 8643514212 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ABC $0etg omimdmeh 3,5 6.9 Womnem), AB, BC 3 CA @i Bp0073,
& 2oTNYRY, JoNnTTN TBAT SEhwne il 1o, :
Options :

86435112645, 260

86435112646, 0%

86435112647. 333

2
86435112648. 220

Question Number : 73 Question Id : 8643514213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x2+ 1> =25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then r? is equal to :

Options :
125
86435112649, /2
625
72
86435112650.
529
86435112651, 0%
'585
86435112652,

Question Number : 73 Question Id : 8643514213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R(3, 4) 2omATY 2% +* =25 200 F[ITIID IWFTR) 1 DR y 9TIW, LDTFTN P H)
Q=Y =oRAT. ractd FIT SRTONTD, ROV 0T Fwws TDTRCNTE Tone

AOPQ® w03 IT FcoBRIRFNRORT. Formosd rrd 2dodm :
Options :
125
86435112649, /2
625
72
86435112650.
529
86435112651, O

58

86435112652, ©0©

Question Number : 74 Question Id : 8643514214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let 54, S; and S; be three sets defined as

S, = {ze C: z-1| =7}
S, = {ze C: Re((1-i)z)=1}
S; = {ze C:Im(z) = 1}

Then the set S M 5?_ a 53

Options :

has exactly two elements
86435112653. =

26435112654, has exactly three elements

86435112655, 1S a singleton

86435112656. has infinitely many elements
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Question Number : 74 Question Id : 8643514214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S,, 5y, S; W0 NN

S, = {zeC: |z-1| =2}

S, = {ze C: Re((1-1i)z)=1}

S, = {ze C:Im(2) < 1} 203 T VRTOHT.

3 e

Tomnd 5, S, S; 3D

Options :

06435110653, COF RN QU NE0sNesd

06435112654, DOF TN TR MEER0TNOI
v 1 - o

86435112655, wODE NEFR0ILT

86435112656, D03 NESROINTES

Question Number : 75 Question Id : 8643514215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e~ *sinx. If F: [0, 1] — R is a differentiable function such

' x 1 .
that F(x) = j f(t) dt, then the value of jﬂ{F'{x] | f{x}]eldx lies in the interval
0

Options :

iy

86435112657. [ 360 360

'[32? E}
86435112658, 00 00

[ 331 334}

86435112659. 360" 360
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2]

86435112660, -00 360

Question Number : 75 Question Id : 8643514215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f:R— Ro0w 933 fl(x)=e *sinx 200 T3, RI4T. F: [0, 1] - R 20w FT 30D

o35Gy, F l £(4) dt &3, j flx)etdr 5 dom ST ©0ITHYR)
Options :
[ﬂ ﬂ}
86435112657. 360" 360
'[32? 3297
86435112658. SRR A
[E 384
86435112659. 360 360
[ﬂ 3]
86435112660. 560" 360

Question Number : 76 Question Id : 8643514216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6
The value of > {E'C, -8C¢ r_] is equal to :
r=0

Options :

86435112661, 224

86435112662, 1024

86435112663. s

86435112664, 1524
78/91



3/18/2021

Question Number : 76 Question Id : 8643514216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 :
}__, {&Cr ’ EICE: 1':|-¢_-'5I ataleviviE
r= 0
Options :

86435112661, 224

86435112662, 1024

2,
86435112663. i

86435112664, 1324

Question Number : 77 Question Id : 8643514217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

+1 y—3 z+ 2 o ) x=2 )
S 1 1 and containing the line = is

wd
(==
=
|
3
(=1

line

ax + By +yz=24, then o+ + v is equal to :

Options :

86435112665. =

86435112666, 20

86435112667, 17

86435112668, 10

Question Number : 77 Question Id : 8643514217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(2,3, 1) RoWHAT TTIFRGONCN [JROT TTIBHCEADIE, 5 1" = i
e ; N N o T . g e e e G
CESTavis D i le vy SV 3 = > = " aeﬂmaﬂi@;mqo@ma TEWBOT ReeFTrazm)

uxlﬁylvz=24ﬂﬁﬁttlﬁlvﬁ o3
Options :

86435112665, 21

86435112666, 20

86435112667, 17

86435112668. ke

Question Number : 78 Question Id : 8643514218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle x>+ >~ 2x — 4y + 4=0, such that the

12) P
angle between these tangents is tan {€ where tan 1(15_2) € (0, 7). If the centre of the
. A

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACAB is :
Options :

86435112669, 2+ 4

86435112670.

86435112671.

86435112672, 114

Question Number : 78 Question Id : 8643514218 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

P 20mQ008 a2+~ 2x ~4y+4=0§ 20D ITFINYII0D, 8 0D ITFINY IR

12
dnedsy tan” (€W ( W 0, snd. o3 IIT Feom Conm, DI 33 ATBER

AR 4RUT IS, A BIY 34r A0S APABIDD ACABRY Se3zony (ierorniv)

LTS :
Options :

86435112669, 7 -4

86435112670 ~
86435112671, 2 1
86435112672, 11+ 4

Question Number : 79 Question Id : 8643514219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of solutions of the equation x + 2 tanx = % in the interval [0, 2] is :
Options :

86435112673.
86435112674
86435112675, 4

86435112676.

Question Number : 79 Question Id : 8643514219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[0, 2] woBTRYTOTS x + 2 tanx = — HWLCFTRT TOTITNT 2.3, FOJOIN :

e
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Options :

]

86435112673.
86435112674
86435112675, 4

86435112676.

Question Number : 80 Question Id : 8643514220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let L be a tangent line to the parabola y?=4x — 20 at (6, 2). If L is also a tangent to the ellipse

ap 2
L 1, then the value of b is equal to :
i

Options :

(=1

86435112677. 11

86435112678.

86435112679.

86435112680, 2

Question Number : 80 Question Id : 8643514220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L 202080 (6, 2) 2OWIFY y*=4r—20 Q02 TOSODIYH IHFINS. 81 L 202000

" oa 2
b = , L SO i ) L
T 1Y 1 sow DemrRIEe oS IRFETEd bod e
2 b i elp 4 ad

Options :

86435112677. 11

86435112678 14
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86435112679. s

20
86435112680.

Mathematics Section B

Section Id : 864351282
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351282
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514221 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e
Let I, = jl ¥ (log/x)" dx, where n e N. If (20)I,;,= alg + Blg, for natural numbers « and §3,

then a— 3 equals to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643514221 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. = i £ * e . . & L
ne NQ@fi I, = Lx“ (loght)™ dx. a @ PR FFRQE FOBNRTNTY, (20)L,;=al, + Pl

SO0 a—-p 2 HDodw

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643514222 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M , € N be the slopes of three line segments OA,

2

Let tana, tanp and tany ; o, B, v #

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

and its orthocentre lies on y-axis, then the value of { cos3a + cos 3 + cos Iy

.
W is equal to
COS « COS [5 COS vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514222 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

tana, tanp, tany; o, B, v % (- D7 e Noownm EEmeN OA, OB@=a@ OC Sesplomne
2 =L

£l

LtdmonE. | Oxowntd @weoomd. AABCoh Zddeods) shrolomdasy deobdodmh

&
s

(RE0T) W VWT VoWTOTH) y-LTT ie@%ﬁ[

2
s cos 3a + cos3p + cos 3*;1 3
b= L COS o Cos 3 cosy J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 83 Question Id : 8643514223 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

’ = S ; ;
If 1, log,,(4*—2) and Ingm(-—i EW are in arithmetic progression for a real number x, then
-f \
2' - B =
the value of the determinant | o 0 is equal to :
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514223 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. RO By O Tttt 18"
X QOLTD TRFT Ro,IRNR 1, logyo(4F —2) & Lngm( = | rish FR2038 Se@odY

.:Ir:_
&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514224 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the

variance of the new set is k, then 9k is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514224 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BRLTT TTDRTT 8t 3nFoB,0R TRLFS F00, 48NT. B3 FDRTT IRTO 2nFoLB.0D
AT2HO 6 DI, LVYT nFOBJ0P TTLAD 3SNT. B8 FDRTT [RTO 2n FOBNY TS Lo

14ed3, 3RFod nROBNY TS ©oToWOT 1:, IV BRA ADRTIW, TBAT. Termosd
BRI ADREE IRLFE 3020, ksud dkod B4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514225 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [-1, 1] — R be defined as f(x) =ax?+bx +c for all x ¢[ ~1, 1], where a, b, ¢ € R such

1
that f(—1)=2, f'(—1)=1 and for x € (—1, 1) the maximum value of f"(x) is 3 If f(x) = «,

x € [~ 1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 85 Question Id : 8643514225 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a, b, enst RIQWRM f: [-1, 1] —» Raow «u3d@mwy, fx)=ax+bx+c, x¢[—1, 1] 20D

WSRRAT.  Ton® f(-1)=2 f(-1)=1=0F f'(x) 8 noxgy @S 7, xe (-1, 1) sha.

H

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514226 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
Let the coefficients of third, fourth and fifth terms in the expansion of {1 [ l.}.,w ,x70, be
: x)

in the ratio 12: 8 : 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514226 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: a n

{x | —W 20T DFROT DRW, Ty W

% .'1.'2,'

NTNC TTNY ATTOERINTG LTTSH)

Lor

12 : 8 : 3 TS, Awi T
Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643514227 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

|rmi11 {[1‘ I ﬁ],xz], I=x=10
filx) =1 :

IEmax {«,E,xz}, O=x = 1.

[f the area bounded by y=f(x) and x-axis is A, then the value of 6A isequal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514227 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f:[-3,1] - Raow «wIgmd

f2) 4Fmin {[_‘I F 6), 12}, 3=x=<0
flx) = {
| max {«H:tz} O=x=1
QO TWYATVAAT. Y= flx) W x-LFOOT SRTewD FeIHOFH A STT 6A 0D LTI
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643514228 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrary point having sum of the squares of the distances from the planes
x+ty+z=0,Ilx—nz=0 and x— 2y +z=0, equal to 9. If the locus of the point P is
x2 yz t z2=0, then the value of I —n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514228 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P oow i Womanod x+y+z=0,lx—nz=003 x-2y+z=0 Q0w ARIONTND
DRoNY Be3n TnFey) 9 SAS.  Tene P Romhaw Romh IR xX+y?+z2=9ewmd l-n

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514229 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let x be a vector in the plane containing vectors a =2.z'x ; I L and b =z I 2; L If the

Ly [ A

vector x is perpendicular to |3 4 2;" Ir) and its projectionon a is 176 , then the value of
2
2
‘_}‘ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

89/91



3/18/2021

100

Question Number : 89 Question Id : 8643514229 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—

a=2i-j+k DB, b=i+2j-k B, BROODT THIVBY x Lo TOI. B 03

o

. A M 3 R R R = . o B B i = - R o . B B
QOLNTR [_3;' EZ j—k i “UGEJEHD’%‘J WE x A0TY) a & [OELN0ENRIDARD EEEZ@

&

17
2

w5 [7f & Boam

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514230 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| a b ' «] o
Let A = [a 1] and B = [;] ,—L[[J such that AB=B and a + d= 2021, then the value of ad — bc
C O

is equal to

Response Type : Numeric
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